ms = 0.89112, gain = 4.0, n = 1024.0

1500 2500 3000 3500




ms = 20.990352, gain = 4.0, n = 1024.0

1500 2500 3000 3500




ms = 41.659248, gain = 4.0, n =512.0

1500 2500 3000 3500




1500 2500 3000 3500







Oms exposure darkframe

1500 2500 3000 3500




exposure nonlinearity

1500 2000 2500 3000 3500




residual ms = 0.89112, gain = 4.0, n = 1024.0

it

1500 2500 3000 3500




residual ms = 20.990352, gain = 4.0, n = 1024.0

1500 2500 3000 3500




residual ms = 40.804752, gain = 4.0, n =512.0

1500 2500 3000 3500




